
INSTALLATION 

Mount the neutral block assembly to the 
enclosure with two screws (7), two flat 
washers (4) and two lock washers (5). 
Torque to 30 – 35 inch-pounds.

For service equipment applications: 
Mount ground strap assembly (9) and two 
pre-wired lugs (1) to the neutral block: with 
two screws (6), two flat washers (3) and 
two lock washers (2) (for TNIA400* and 
TNIA600* use only lock washers). Torque to 
275 inch-pounds.

Attach ground strap assembly (9) to the 
enclosure with one screw (8), a flat 
washer and a lock washer (5).  Torque to 
20 inch-pounds.

For non-service equipment applications:
Mount two pre-wired lugs (1) to the 
neutral blocks with two screws (6), two flat 
washers (3) and two lock washers (2) (for 
TNIA400* and TNIA600* use only lock 
washers).
Torque to 275 inch-pounds

NOTE: * - Applicable for UL Recognized 
Catalog numbers with UR suffix also.

WIRE SIZES 

Device 
Description 

Amp 
Rating 

Applicable Cable Size 

TNIA400* 400 
(2) 2/0-500 MCM CU/AL
(1) 8-500 MCM  OR
2/0-600 MCM CU/AL

TNIA600* 600 (2) 2/0-500 MCM CU/AL

TNIA800* 800 (3) 250-500 MCM CU/AL

TNIA1200* 1200 (4) 250-350 MCM CU
(4) 250-500 MCM AL

TNIAC1200 1200 250-400 MCM CU ONLY

KIT CONTENTS 

Item # QTY. Description 

1 (2) Lugs (see chart) 

2 (2) ½” Lock washers 

3 (2) ½” Flat washers not in TNIA400* 
and TNIA600* 

4 (3) #12 Flat washers 

5 (3) #12 Lock washers 

6 (2) 

½”-13 x 1” screws for TNIA400* and 
TNIA600* 
½”- 13 x 1 ¾” screws for TNIA800*, 
TNIA1200* and TNIAC1200 

7 (2) #12-24 x ¾” screws 

8 (1) #12-24 x 3/8” screws 

9 (1) Ground Strap Assembly 

10 (1) Neutral Block Assembly 

Ground Strap Assembly
1

GEH4323 INSTALLATION INSTRUCTONS

Enclosure Neutral 
Cat. Nos. TNIA400*, TNIA600*, TNIA800*, TNIA1200* and TNIAC1200  

1.

2.



These instructions do not cover all details or variations in equipment nor do they provide for every 
possible contingency that may be met in connection with installation, operation, or maintenance. 
Should further information be desired or should particular problems arise that are not covered 
sufficiently for the purchaser’s purposes, the matter should be referred to the ABB Company. 

Enclosure 
3, 2, 6 

1 

5, 4, 7 5, 4, 8 

10 

— 
ABB Inc.  
305 Gregson Drive 
Cary, NC 27511. 
electrification.us.abb.com  

— 
We reserve the right to make technical 
changes or modify the contents of this 
document without prior notice. With 
regard to purchase orders, the agreed 
particulars shall prevail. ABB Inc. does not 
accept any responsibility whatsoever for 
potential errors or possible lack of 
information in this document. 

We reserve all rights in this document and 
in the subject matter and illustrations 
contained therein. Any reproduction or 
utilization of its contents – in whole or in 
parts – is forbidden without prior written 
consent of ABB Inc.  
Copyright© 2019 ABB  
All rights reserved 1S

Q
C
93
0
0
88
M
0
20
1,

 G
EH

43
23

 F
eb

ru
ar

y 
20

23
 R

ev
. B

 

2


	INSTALLATION
	WIRE SIZES
	KIT CONTENTS

	TNIA400*
	Enclosure



